WOODPECKER CNC
Assembly instructions
[image: image1.png]



V2.4
· Right view and Rear view
[image: image2.png]Zaxis

Spindle
O.-
® ]
T o
210
%
'i?jo o] 0| Oéd|7
T A

© ©

Xaxis

Yaxis




[image: image3.png]o




· Component size：
[image: image4.png]68mm
95mm

58mm





[image: image5.png]28mm

M5x10

4

28mm

20mm

42mm





Frame installation
[image: image6.png]220mm

wwooe

wwop

wwopye

220mm




Y-axis installation 1, as the picture showed , do not use the Spacer
[image: image7.png]




Y-axis installation 2, as the picture showed , do not use the Spacer
[image: image8.png]M5*10 x10






Y-axis installation 3
[image: image9.png]wwoot





· Frame installation
 [image: image10.png]Tighter\

A0
4%
OOOOOAV
lﬁ_lémy

240mm

Align

200mm





XZ axis installation
[image: image11.png]@

Tighten

Tighten

Tighten

Tighten

Tighten

© ©
1]
Q ©
SEE
© ©

Tighten




 [image: image12.png]Xaxis

Copper nut Spring
Lead screw (255mm)
/17





[image: image13.png]Yaxis C t Spri Y-axi t seat
opper nu pring -axis nut sea \

Lead screw (230mm) \

/] =3





Y axis lead screw final effect
[image: image14.png]



· stepper motor mounting
[image: image15.png]



[image: image16.png]



Coupling installation
[image: image17.png]Set screw (M4*4 x2)
Coupling (5-8) Nﬁ

Lead screw j‘

X





Control board installation， M5*10 Screws 4pcs，M5 Nylon washer 4pcs。
[image: image18.png]



Axle-bearing installation
[image: image19.png]



Wiring diagram:
[image: image20.png]laser(12V 5Amax)

@
" = 3 T &
X Y Zz
|| TR YT,
Control hoard wiring
12-36VDC _ —]

USB [ [ Mg





PAGE  
11

